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State the conditions for an object to be in equilibrium '

4,3,2, 15
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State the conditions for an object to be in equilibrium '
4,3,2, 1J5d
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Relate the direction of the acceleration to the direction of the net force Page oy y 8
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Relate the direction of the acceleration to the direction of the net force Page oy y 8
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State the conditions for an object to be in equilibrium
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Classify forces as either contact forces or field forces and realize that they result from Pa_g e 99 | , 1 6
interactions caused by agents '
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Describe the apparent weight for an object accelerating vertically upward or downward ) '
(starts from rest, reaches a constant speed, then comes to a stop) Pag € 102 & 1 03 1 2
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Describe the apparent weight for an object accelerating vertically upward or downward ) '
(starts from rest, reaches a constant speed, then comes to a stop) Pa'g € 1 02 & 1 @3 1 2
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Describe the apparent weight for an object accelerating vertically upward or downward ) '
(starts from rest, reaches a constant speed, then comes to a stop) Pa'g € 1 02 & 1 @3 1 2

1 sl giludts 605l o Al dasan J33 JFe Ol e Cailly 75.0 Kg clalis 38 13)
Belyd (yo ST & yluitdl £l Olnadl Be1y8 9SG I LA de ) o) @3 2.00 s Biked 2.00 m/s2 _yldes
Flgio ST of L) Doglune o O9Suudl D> 3 dasaall H9SH i Ol

e gm0 ¢

F o5l — 735 = +150

Fopa = 150 + 735

F o) = Fg =ma

F 5w = +885N

F oyl — 735 =75 X 2




List the characteristics of the interaction pair and identify the action-reaction pairs for Pag e 109 T 1 8
different situations
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Combine forces to find the net force acting on an object
Relate the direction of the acceleration to the direction of the net force

Page 111 © 7
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Apply Newton's laws to solve problems involving normal and tension forces including systems of objects connected by Page 110 © 19
strings and Atwood's machine
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Apply Newton's laws to solve problems involving normal and tension forces including systems of objects connected by

strings and Atwood's machine

Page 110 ¥ 19
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Combine forces to find the net force acting on an object | Page 111 7 7
Relate the direction of the acceleration to the direction of the net force 37,36, 34 Jl5udl
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Combine forces to find the net force acting on an object | Page 111 7 7
Relate the direction of the acceleration to the direction of the net force 37,36, 34 Jl5udl
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Determine the magnitude and direction of the resultant of two vectors in two dimensions using trigonometry, the Pa.g e 124 T 1 4

Pythagorean theorem (case of perpendicular vectors), and the laws of sines and cosines.
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Determine the magnitude and direction of the resultant of two vectors in two dimensions using trigonometry, the Pa.g e 124 T 1 4

Pythagorean theorem (case of perpendicular vectors), and the laws of sines and cosines.
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Determine the magnitude and direction of the resultant of two vectors in two dimensions using trigonometry, the Pa.g e 124 T 1 4

Pythagorean theorem (case of perpendicular vectors), and the laws of sines and cosines.
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Determine the resultant of two or more vectors algebraically by adding the components of Pag e 127
the vectors and find its magnitude (R2=Rx 1 5
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Determine the components of a vector in cartesian coordinate system using trigonometry Pa-g e 1 2 8
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Determine the components of a vector in cartesian coordinate system using trigonometry
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Determine the components of a vector in cartesian coordinate system using trigonometry Pag e 1 2 8 5
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Page 129 ¥ 9
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Resolve a vector into two orthogonal vectors in cartesian coordinate system.
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Resolve a vector into two orthogonal vectors in cartesian coordinate system.
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Define the friction force as a type of force between two touching surfaces, and determine Pag e 130 Y 2
its direction.
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Define the coefficients of kinetic and static friction.

uSgS.mJlg uS,a-N < (S 2
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Define the coefficients of kinetic and static friction.
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Define the coefficients of kinetic and static friction.
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Relate graphically the frictional force to the normal force and find the coefficient of
kinetic Friction.

Page 131 ¥ 10

(Goolaned) 3oadl — LS o) HlSa%) 553) isio e e R
4.5 / (.‘5,::.:..&1 éJg)
- 4.0 ) Ao doglangfl ag2f) S ) _"_ll.‘.:._sx’l
é 3.5 ) g} (N) T (N)
3 30 1
= 25 )&ao 2
1 2.0 -7 P
> b 3
Y}, 15 a9
— = 4
= 1.0 . .
S AP E =
0.5 Nguat 7
0.0 =
0 1 2 3 4 5 6 7 8 9 10 7
8




Apply the relationships that relate the normal force to maximum static friction and to kinetic friction to calculate unknown P a_g e 133 y 1 1

parameters like friction force, coefficient of friction or the normal force (Ff,static=" sN and Ff kinetic= kN).
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Apply the relationships that relate the normal force to maximum static friction and to kinetic friction to calculate unknown Pag e 133 y
parameters like friction force, coefficient of friction or the normal force (Ff,static=" sN and Ff kinetic= kN). 1 1
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Apply the relationships that relate the normal force to maximum static friction and to kinetic friction to calculate unknown Pag e 133 y
parameters like friction force, coefficient of friction or the normal force (Ff,static=" sN and Ff kinetic= kN). 1 1
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Apply the relationships that relate the normal force to maximum static friction and to kinetic friction to calculate unknown Pag e 133 y
parameters like friction force, coefficient of friction or the normal force (Ff,static=" sN and Ff kinetic= kN). 1 1
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'Solve problems related to friction Page 135 7 A
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'Solve problems related to friction
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Page 136 7 3

Recall that for an object to be in equilibrium, the net force acting on it should be zero.
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Apply Newton's Laws along x and y axes for an object that moves on an inclined plane Pag e 1 3 9 ' y
ith and without friction. 2 0
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Apply Newton's Laws along x and y axes for an object that moves on an inclined plane Pag e 1 3 9 ‘ , 2 0
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Apply Newton's Laws along x and y axes for an object that moves on an inclined plane Pag e 1 3 9 ' y
ith and without friction. 2 O
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Apply Newton's Laws along x and y axes for an object that moves on an inclined plane
ith and without friction.
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Apply Newton's Second Law to solve numerical problems

—————)
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Apply Newton's Second Law to solve numerical problems Page 141 © 17
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Apply Newton's Second Law to solve numerical problems ' ' Page 141 © 17
38,37 JIgl
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